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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.

Use of ink remover or white correcting fluid is not allowed

Mercury is more denser then water.

(D) (C) (B) (A) QUESTIONS Q-1
Jkgk Jkg'k Jkg 'k Jkgk S.1 unit of specific heat is ¢ ¢S.1K =it | 1
Eipng g | Endvedi| T | C6Lrd e pshF et | 2
Shining A dull black A white Agreen | hich of the following is a good radiator of
silvered atiifics - coloured
surface surface heat.
Viiifes | olley | Sl S |/ dhfey e b K By druit S| 3
Lovfrer the | Keep the roof Cool the room | Insulate the |False ceiling is done to
height of e
= clean ceiling
ceiling
3 6 7 9 -4 J‘A”-Jlfi'.'d’g Si| 4
The number of base units in Sl are
Lo Loy s k P PArSEARE
Distance Displacement Velocity Speed A change in position is called
ST bt Sl 3 Cohe Lipnl i Sizudt 24| 6
oil Air Fine marble |  Water D T B
powder Which of the materials lowers the friction
when pushed between metal plates.
e SIELEKTy | Wiy | uibu by - bW IEE | 7
Momentum Third !_aw of Second_ law of | First Igw of Law of inertia is known as
motion motion motion
Uie Qg6 30° AL Aixuikid 10N] 8
7N 8.7N 5N 4N rcad Figd
The force of 10 N is making an angle of 30° with
horizontal, Its horizontal component will be
1 1 1 " -eaﬂ{dﬂzfxﬁuféléﬁia.cpifdd’g 9
49 38 28 4 The value of g at a hgight one's Earth
radius aboyg t : e of Earth is
| A me Lol L ¥ 2| 10
10J 50 J 100 J E P S
* | The work done in lifting a brick of mass 2 kg
through a height of 5 m above ground will be
g Gakd | gady Gl e GHut 2SS | 1
Nuclear Chemical | Kinetic energy | Heat energy |The energy stored in a coal is
energy energy
136times | 135times | 134times | 13.3 times e oiFe byl | 12
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Answer briefly any Five parts from the followings:- 5x2=10 - /z/=\iz L1z ék e tditn -2
Define Plasma Physics and geo-Physics. _z-.f§ - /-"J ﬁ;—’mu’fﬁug (i)
What is meant by least count, Write the least count of metre rule. NS T Sy e sy wiked (i)
When the zero error of screw gauge will be negative? ¥ ;%g../;{l 212 C:f xzc‘ (iii)
Define the vibratory motion and give one example. & Je L 25 ..ny ;;f"r'd,k/:’ Iy (iv)
Falcon can fly at a speed of 200 kmh™ change this speed in Sl unit. & 8 &y SIfiryi-e Che {38 2000w (v)
Find the acceleration that is produced by a 20 N force in a Ve G 20 Ny (’.ﬁﬁ Ut rl);( 8 (vi)
mass of 8 kg. : -u_‘/;‘:‘fgft’)”"l Uls sl K ()
Write any two disadvantages of friction. | el b5 8L 5 (i)
What is meant by banking of roads? S sl 3 ST EE: (vili)
Answer briefly any Five parts from the followings:- 5x2=10 -q&i:..wﬁ‘z: 121 Sg_ = Jf;. 9+ JJ o 3
What are First Condition and Second Condition for equilibrium St st Wb S mulh /‘dﬁ JE /’d;f (i) -:
How head to tail rule helps to find the resultant of forces? e U AS RS et P U i i)
How can you say that gravitational force is a field force? “ e L,c;’,i_U'...g w}ﬁdg/f ¥ £ L)u‘( T (i)
State the law of gravitation. _é’ kUG K L.;:j d!/ (v) What is GPS. -&bn V' GPS (iv)
Define Mechanical energy and give an example. S JeLin gE w83 SE (vi)
What is meant by nuclear energy. Write its peaceful use. & i S5 -l Ve FAH% (vii)
Define efficiency and write its equation in percentage. Sk 25 3PS SER (i)

Answer briefly any Five parts from the followings:- 5x2=10 - /27 Az AL 17! i; e tdits -4
Write down any two Application of Pascal's Law. _JJUH»L Jf£ UL gf“Lr (i)
Define density and write its Formula. -2yt KU1l é - ﬂJ L§';‘$ (ii)
What is meant by Evaporation? fc ./ Ve o”iz,;’—gf (iv) State Archimedes, Principte._.'-f_f Ol 1 J.g"}f (iii)
How many scales are there for the measurement of @l L gisy AL f_k; LEiZ )
temperature write their names?
What is meant by green house effect? el e 2 s o/ i)
Define Thermal Conductivity. Write its equation. @ ol J J -2_-: i /'"J d,:f” i J/" (wvii)
What is meant by Conductors and Non-Conductors? Sespa Pk s o0 (viii)

Part It o -

Note: Attempt any Two questions. 9x2=18 ..g{f(/’:-wcﬁ =lyrne. J/ -
State Newton's Second Law of motion and prove that F=ma /4 F=ma S/ et/ ok UIE s " AN
A train slows down from 80 kmh' with a uniform retardation 5 < o2k ptzy £2 ms? Ly i e b3 2E 80 (&) |
of 2 ms™. How long will it take to attain a speed of 20 kmh™, ?JJ_ SN LfJ‘b&;J:h'G):‘f 20¢[ /& (ﬁmf’
Define addition of forces. How head to tail rule is used to 4 Ll SJEJu Ik _équ&fo} Oks
determine a force from its Perpendicular components? _é f: 15 /b L}a St L r;'-"d: SPe sa J uﬂrf Yot

Explain it with figure.
Calculate the power of a pump which can lift 70kg of /75 _c Cﬁlg;uf 10s FYsk 6t 1!-3mﬂ.$‘|.r 70kg g L1 ()

water through a vertical height of 16m in 10 seconds. - Pk J -t
Define and expiain the linear Thermal expansion in ﬁ}4 ;:i,:.-j_"-: ..:.Jl.'-u:l-i_;j/ ...,:,f,;J g &sl}d:’uﬁ rv.lu‘ﬁ' OL7
solids and derived L = L, (I + a AT") equation. S slets L=L, (1+a AT)
A cube of glass of 5cm side and mass 306 g, has a5 LiIL Ulale 306 gULK o £ E5LL i 2575 (&)
cavity inside it. If the density of glass is 2.55 gom’™®. V172,55 gem® §H &S e Je By Q)
Find the volume of the cavity. L el
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.

Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
Sl 6t Y el O EGAENSE |
Conduction Radiation Absorption Convection |Land breeze and see breeze are result of
o ook Ll s g B T ar LSS AN
Nine times Three times Four times Six times PR =) 2" & bodybecomes (res times
greater then Kinetic energy will be
m v C
F . mv mv? Momentum P = e AP 3
1cm 1 mm 0.01 cm 0.01 mm - breib e Kigtin| 4
The Least count of Vernier Callipers is
Lot HHh 97 Ui Eris e P EE S| 5
Distance acceleration Force Mass The product of velocity and time is equal to
F+R . F.R ] e tndz et 6P| 6
& . Co-efficient of friction is equal to
S St 24 e aEINGSL | 1
Work Torque Pressure Momentum | The turning effect of a force is called
) ] ¥ m?2 - Sy &gf'iuﬁ}ﬁd/"‘-’ 8
Centripetal force is directly proportional to
J# ¥ S L ce dnditn st L] 9
Thermal Kinetic Potential Electrical | The energy stored in a dam is
Nm? Nm Nm™ Nm? “a St 10
Sl-unit of pressure is
3000 Jkg™ K | 4200 Jkg™ K | 2500 kg K' | 2100 Jkg™ jﬁ; disy it P epard g 1
' The specific heat of watetds: ! "5,
Oxt o Q2 Qg -Q.L/ld/;l;:é.:wlf" 12
f : v Rate of flow of heat is
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Part 1 Jof e
Answer briefly any Five parts from the followings:- 5x2=10 _/zfel2 L1 §ye e L bits -2
" Define Atomic Physics and Geophysics. E PSS e S )

Write the numbers given below in scientific notation. _ LS A &g (i)
(a) 0.0000000016 g (b) 6400000 m (a) 0.0000000016 g (b) 6400000 m
Find the least count of screw gauge. _5 (J”.'.e‘fb’.'.-r_"b’ C{g; (iii)
What is difference between Rest and Motion. el UL S e T (iv)
Define acceleration and write its formula. _u:'ﬁ UG E st :—‘_f - /‘.'.u( uy-)’"fi v)
State Newton's First law of motion. S kTG UK K (Vi)
Find the acceleration that is produced by a 20 N Forceina ﬁn -e g/ S 20 ¢ ‘f‘ LL L rl/ﬁ’ 8 (vii)
mass of 8 kg. 2 p"'aﬁ)’(l Ul &stige U2
Write any two advantages of Friction. & e J/ L J‘C’ (viii)

Answer briefly any Five parts from the followings:- 5x2=10 -g{)}/’.:ubtz/’f_ I1Zl ‘k = IL’:'- L djbw -3
Define Torque or Moment of a Force? What is the unit of Torque in SI? =y ¥l WSty /Pl isTasr L it (i)
Define Rigid Body and Axis of Rotation. ISP ST AN s (i)

-y

State Law of Gravitation? Write its mathematical Equation. Sz ff;-hla;}l;ﬁ yAv4 Sokuii u‘f' o’.g)’ (iiii)
Define Field Force? Syl @Sl (iv)
What are Artificial Satellites and give an example? “LoJesys _qu""u&*‘J?“ )
What is the unit of work in SI system. Aiso define the unit of work? -/ / i/ Jeiy £l e Yoy ¥ s 26 S) (vi)
Define Mechanical Energy. Give an example? .,L,[;di‘.‘mluﬁf - /‘"J SASE (vil)
Define Power. Write its unit in SI? tef Ly SIS S g il
Answer briefly any Five parts from the followings:- 5x2=10 _q&fa;m,ﬂ&m ﬂ;.dfc:..u!dj G -4
Wirite down two features of Kinetic Molecular model of Matter. _u_’)}f-..-:-gorj» J JiL);QL ...@Jb’ Lol (i)
State Archimedes Principle, Write its equation. _u:'g OIS d’ u‘i..u_’fugﬁ Jri¥ JA:;;I (ii)
What is difference between ships and submarines. - O/t Ui Tl iz S7- (i)
Change 300K on Kelvin scale into celsius scale of temperature. _q/ Jrs J:C Lf"? f,{v;; 300K ¢ J:ng’ (iv)
State Thermal Conductivity?  Sesl Ve (L2720 U# (vi)  Whatis intemal energy of a body?%c st Ye $AJEIS AT (v)
What is meant by transfer of heat, Write ways by which transfer of heat takes place. S pL 27 JE e e a7 JE (vii)
Write two uses of conductors. S e L3S (i)
Part 11 » -~
Note: Attempt any Two questions. 9x2=18 -g{)}j@&tzﬁ =lrpe Jf -
Describe any four differences between mass and weight. -Z kOt unu Ol
A train starts from rest with an acceleration of 0.5 ms™?. e ﬂfflﬁ 05 ms’e ety idl ()
Find its speed in kmh™, when it has moved through 100 m. I kmh e S L LJE JeiK 100
State and explain the first condition for equilibrium. A4 Euk AL ol B S0 OLe
A motor boat moves at a steady speed of 4 ms”. Water resistance 45 (V- ST b2 S ams' Ly v S (&)
acting on it is 4000 N. Calculate the power of its engine. .é{:"’»& Juf{lﬂ J1-¢-4000 N et Jdg gt
Define volume thermal expansion and derive the /'2 4 =lsbanl é i /7J g le/’l,}.' r:!b OL7
equation ¥V =V, (1+ fAT) ,£}|V=Va (1+pAT)
A cube of glass of 5 cm side and mass 306 g, has a 25 sl Uinle 306 g Wl LELL 2 2575 (&)
cavity inside it. If the density of glass is 2.55 gem™. Find V171255 gem™ G H &N ¢ Je dL (o) i
the volume of the cavity. L
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